00000 sdunonogn 20120 50 220

00 1] [0oO00)

ooOroooboobobboboobooboobo0obo0bd n=1,2,3,---0000
ObOooobOobobOoboboOobooonbog By By Bs,--- 0000

(1-1) 00000000000 0000 E, 0000000000000 p,0 ¢ ?E~000
00000000000 p=1/(kgT)O0O0OO0OO0O0OOO

1 _
Pn = Ee Fn (1)

00000000Z00000 (0O0)
Z =Y e Pt (2)
goog
(1-2) DODooOOoOoOoOooO EDDE:anEnDDDDDDDDDDDDDD 00000

0
E = _8_510gZ (3)

gboboogoobn

(1-3) 00D000000000000000 E=2(BF) 00000000000
Fe—ligz (4)
B

gooo

0020000000 2000000]

NODOOOOOOOOOOOOO0O000000000000000000000000 200
0000000000000000 00000000000 HOOOOOOOOOOOOO
000000000 —wHOOOOOOOxkHOOOOODDOO0O00O

(2-1) 0000 ZO0OO0OOOO

(2-2) 0000000000000 FOOOOOO

(2-3) 00000 E000000O0O0OO (14)0000000000000000

(2-4) OOODODODOOOOOOOODODOOD E(T -0 0000000000DODOOOOO
E(l-oc0)00000000O0DOODODODOO



